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import java.util.Arrays;

public class Main {

{

}

public static void sectionA() {

int[] wvecl= {1,2,3,4,5};
int[] vec?2 = new int[10];
int[] vec3;
System.arraycopy (vecl,0,vec2,5,vecl.length);
for (int i = 0; i1 < vecl.length; ++i) {
vec3 = vecl;
vec3[i] = vecl[vecl.length - 1 - i];
}
System.arraycopy (vecl,0,vec2,0,vecl.length);
System.out.println (Arrays.toString(vec?2));

public static void sectionA() {

int[] wvecl= {1,2,3,4,5};
int[] vec2 = new int[10];
int[] vec3;
System.arraycopy (vecl,0,vec2,5,vecl.length);
for (int i = 0; 1 < vecl.length; ++i) {

vec3 = vecl;

vec3[i] = vecl[vecl.length - 1 - i];
}
System.arraycopy(vecl,(0,vec2,0,vecl.length);
System.out.println (Arrays.toString(vec2));

public static void main (String[] args) {

System.out.println ("Questionl: ");
System.out.print ("Section A: " );
sectionA();

int[] arrl = {4,6,8,10};
int res = sectionB(arrl);
System.out.println("section B answer is " + res);
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public class Main {
public static String sectionA (String str) {

String strl = "%$%"+str+"S$sS";
int len = strl.length();
if (len%2==0) {
return (strl.substring(len/2-2,1len/2+2));
}
else {
return (strl.substring(len/2-1,1len/2+2));
}
}

public static String sectionB(int num) {
String str = "";
char ch = 'a';

for (int i = 0;i<num;++1) {
str = str + ch;
ch+=1;

}

return str;

System.out.println(sectionA("abcdefg"));
System.out.println (sectionA("abcdefgh"));
System.out.println (sectionA(""));
System.out.print ("Section B: ");
System.out.println (sectionB(10));
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public class Main {

public static boolean validmat (int[][] mat) {
for (int 1 = 0; 1 < mat.length; i++)
for (int j = 0; j < mat[i].length; Jj++)
if ((mat[i][J] > 1) || (mat[i][j] < 0))
return false;
return true;

}

public static void rowcolmatrix(int[][] mat) {
int H cnt = 0, V. cnt = 0, tmp cntl = 0, tmp cnt2 = 0;

if (!validmat (mat)) {
System.out.println (" illgal unput matrix!!!");
return;

}

for (int 1 = 0; 1 < mat.length; i++) {
for (int j = 0; j < mat[i].length; J++) {

if (mat[i][j] !'= 0)
tmp_cntl++;

else if (H cnt < tmp cntl)
H cnt = tmp cntl;

else
tmp_cntl = 0;

if (mat[j]l[i] !'= 0)
tmp cnt2++;
else if (V_cnt < tmp cnt2)
V_cnt = tmp_ cnt2;
else
tmp cnt2 = 0;
}
if (H cnt < tmp cntl)
H cnt = tmp cntl;
tmp cntl = 0;
if (V_cnt < tmp cnt2)
V_cnt = tmp cnt2;
tmp cnt2 = 0;
}

System.out.println("H cnt: " + H cnt);
System.out.println("V_cnt: " + V _cnt);
}

public static void main(String[] args) {

]
int[][] mat = {{1, 0, 1, 0, 0},
{1, 0, 0, 1, 1},
{0, 0, 0, 0, 1},
{1, 0, 1, 0, 1},
{0, 1, 0, 0, 1}};

rowcolmatrix(mat) ;
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ans = func("this is question number five in the exam") ;
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TemperatureCalc: P2 7N3

enum TempUnits {
CEL, FAR, KEL
}

public class TemperatureCalc {
private double celsius = 0;
private double fahreneit = 32;
private double kelvin = 273.15;

public TemperatureCalc () {
celsius = 0;
fahreneit = 32;
kelvin = 273.15;
printTemp () ;
}
public TemperatureCalc (double T,TempUnits U) {
TemperatureCalc (T, U);
printTemp () ;
}

public void TemperatureCalc (double T,TempUnits U) {
if (U==TempUnits.CEL) {
celsius = T;
fahreneit = T * 9 / 5 + 32;
kelvin = T + 273.15;
} else if (U==TempUnits.FAR) {

celsius = (T-32)*5/9;

fahreneit = T;

kelvin = celsius + 273.15;
} else {

celsius = T - 273.15;

fahreneit = celsius*9/5+32;

kelvin = T;

}

}
public void printTemp () {

System.out.println ("Temp (C) = "+celsius+"
Temp (F) = " + fahreneit
+ " Temp(K) = " + kelvin);

}

/* student to write */
public void SetTemp (double T, TempUnits U) {

}
public TemperatureCalc AddTemp (TemperatureCalc T1,
TemperatureCalc T2) {

}
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public class Main {

public static void main(String[] args) {
/*section A*/
TemperatureCalc Tl = new TemperatureCalc (25, TempUnits.CEL) ;
TemperatureCalc T2 = new TemperatureCalc (100, TempUnits. FAR) ;
TemperatureCalc T3 = new TemperatureCalc (300, TempUnits.KEL) ;
TemperatureCalc T4 = new TemperatureCalc();

/*section B*/

T1l.SetTemp (30, TempUnits.CEL);
Tl.printTemp () ;

T2.SetTemp (70, TempUnits.FAR);
T2.printTemp () ;

T3.AddTemp (T1,T2) ;
T3.printTemp () ;

t

TemperatureCalc NPYNNI TP OYOP IPN INN, NN section AD ON»NNA (MTPI 10) .1
1N TIPN PVP DPDA DTV NN DN 12V 7D INIA NI DN D, 03090
: MDWHN NV NN IND (MNHPI10) .2
public void SetTemp (double T,TempUnits U) {
}

public void AddTemp (TemperatureCalc T1,
TemperatureCalc T2) {

U aymy mmnon no 9> T nx 80 setTemp

NIPY O3V HW yonN TIN0 2T 2 nnww 1 oy1T 2 1YY NMHvINNLN NX 0DIDAJdTemp
NapAN2p)
1591N2 section B Yv pHNa mIomn 091 nn (MM é) .3
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public class SecretString {
private String str;
private String key;

public SecretString(String str) {
this.str = str;
this.key = str.repeat(2).substring(str.length()-2,str.length()+2)
+str.charAt (str.length()-1);

}

public String getKey () {
return (key) ;

}

/*student to write */
public void printSecStr (String key) {
}
}

public class Main {
public static void main (String[] args) {

System.out.println("Section A: " );

SecretString Mystr = new SecretString("riddle");
String key = Mystr.getKey();
System.out.println (key);

System.out.println ("Section B: " );
Mystr.printSecStr ("try");
Mystr.printSecStr (key) ;

NR 22p% 72 NNAmAN 5Y DYXANnW A2 DR RN 205w section A 2 0010105 0970 an (MMpa 10) .1
key
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public class Traincarts ({
private int carts;
private int[] cartSize;
private int[] cartOccupantcy;

public Traincarts (int carts,int[]
this.carts = carts;

this.cartSize =

this.cartOccupantcy =

for (int i=0; i<carts;++1) {

this.cartSize[i] =

this.cartOccupantcy[i] = 0;

}

new int[carts];
new int[carts];

cartSize) {

cartSize[i];

public void printTrainsSizes (Traincarts train) {

System.out.print ("catrs sizes:
for (int traincart:

")

train.cartSize) {

System.out.print (traincart);

}
System.out.println();
}

public void printTrainsOccupantcy (Traincarts train) {

System.out.print ("catrs occupantcy:

for (int traincart:

System.out.print (traincart);
}
System.out.println() ;

public boolean goOnTrain (Traincarts

if (cartNum >= carts)
return false;

if
this.cartOccupantcy[cartNum]
return true;

}

else return false;

}

")

train.cartOccupantcy) {

train, int cartNum) {

++;

(M7I21 26) 9 10071 O9RY

(this.cartOccupantcy[cartNum]<this.cartSize[cartNum]) {

public int recNumVacant (Traincarts train,int index,int num) {

if (index<train.carts) {
if

num =
} else num =

}

return (num) ;

public int[] CheckVacant (Traincarts

int num = recNumVacant (train,O,
int[] res = new int[num+1l];

int j =0;

for (int i=0;i<train.carts;i++)

if (train.cartOccupantcy[i]
res[j++] = 1i;
res[j] = -1;
return (res);

13 7 12 1y

(train.cartOccupantcy[index]
recNumVacant (train,
recNumVacant (train,

index + 1,
index + 1,

train) {
0);

< train.cartSize[i])

< train.cartSize
num + 1
num) ;

index]) {
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}
public class Main {
public static void main(String[] args) {

System.out.println ("Section A: " );

int[] sizeArray = new int[]{10,1,20,30,10,20,10,30};

Traincarts train = new Traincarts(8,sizeArray);
train.printTrainsSizes (train);

System.out.println ("Section B: " );
train.printTrainsOccupantcy (train) ;
train.goOnTrain (train, 1);

train.printTrainsOccupantcy (train) ;

System.out.println("Section C: " );
int[] vacantList;

int i=0;

vacantList = train.CheckVacant (train);

System.out.print ("the carts that has place aer:

while (vacantList[1]>=0) {
System.out.print (vacantList[i++]);

D917 DOWAR 1D, cartnINMpi (901 DR 79991 K27 ,S N7 MNP IR nax»n TrainCarts apomma mn:
. cartOccupantcy 117p7 NX o°09a8» D°WIR n1, cartSize npa nrao

? n10nn Sw section A 0970 n (MMpP18) .
?go0nTrain 72Woi NY¥an 71 .TN2WN DR Pn1 ? nIona Sw section B 0°o7n i (Mp1 8) .
checkVacant? n9woi nyxan nn.7n2wn X pal ? n°10Ina >w section C 0°97n an (M7 10)

InNnYYNa
V" 11799 MY MMTN Y20

13 1m0 13 1y

W N



